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For a suitably chosen real constant a, let a

function, f : R—{—a} — R be defined by
a

f(x) = I I. Further suppose that forany
atx

real number x+ —a and f(x)= —a,

w

is equal to :

(fof )(x)=x. Then ¥ |r

(e

4
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Options :

40503641966,

40503641967.

!__,_}||_|
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!_',._}||_.
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Options :
40503641966,

40503641967.

!__,_}||_|

40503641968.

!__,_1.||_.

40503641969.
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If @« and B are the roots of the equation
2x(2x+1)=1, then B is equal to :

Options :

2

40503641970, 2@ *1)

Lo |
40503641971, — 2alat1)

i
2os

40503641972.

) i
40503641973, 2e(@—1)
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afg o T4 B FHFO2x(2x +1) =1 F GA E, &l
B =T 2

Options :

40503641970, 2@ *1)

Lo |
40503641971, — 2alat1)

i
2os

40503641972.

) i
40503641973, 2e(@—1)
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Let z=x+1y be a non-zero complex

) . i
number such that z<=i|z/-, where

i=./—1, then z lieson the :
Options :

40503641974, MAgINAry axis
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40503641975, real axis

40503641976, P& Y =X

line, y= —x
40503641977.
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o o6 U v 9fHg 9= z=x+ iy 39
W%ﬁzzzi 7|2, aﬁ;:wﬁ,ﬁzﬁf—lﬁ
HfFamfom e

Options :

40503641974. ok i

40503641975, g AR

T, y=x
40503641976. B

‘?QT, V==X
40503641977.
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' cosh  sinb
. I

sinfl  cosb

Let ”='§' and .5'1={

B=A+ A%, then det (B) :
Options :
40503641978, 1S Zero.

40503641979, 1s one.

lies in (2, 3).
40503641980.
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lies in (1, 2).
40503641981.
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.H_Ti' T‘l?ﬂ.ﬁa cost s1inf
HHET = A=

. 1 7fs

sint msli_
B=A+ A% 1 det (B) :

Options :

40503641978, 0 F TR 2|

40503641979. . <l

: pe
10503641980, T (2,3) H &1

AU (1, 2) H B
40503641981, (L2)H%
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If the constant term in the binomial

10

: ;f 2
expansion of I Jx 5 | is 405, then |k |
LY I ‘__n'

equals :
Options :
40503641982, 1

40503641983, °

>
40503641984, 2
40503641985, °
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Options :

40503641982, 1

40503641983, °

>
40503641984, 2
40503641985, °
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The common difference of the A.P.
by, bs, ..., by, is 2 more than the common
differenceof A.P. By, By ey 8 Ifam = —159,
a00= — 399 and b 100= 370 then bl is equal
to :

Options :
40503641986, S1

40503641987, ~ 51
127
40503641988.
— 197
40503641989, 27
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TR 41 by, by, ..., b, T HEATR, HHAH
ﬁi—f:fal, az,...,a"%ﬁma“-mﬁz Ay 21 afe
ago=—159, ajgg=—399 T4b g =ap, Wb,

AT ©
Options :
40503641986, S1
40503641987, ~ 51
127
40503641988.
17
40503641989, 1%
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For all twice differentiable functions
[ R—=R, with fl0)=f(1)=f10)=0,
Options :
10503641900, / @)#0 atevery point xe(0, 1)

40503641991, 1 (@) =0

f(x)=0, for some xe(0, 1)
40503641992. -

“Ixy=0, at every point xe(0, 1
40503641993, 1 ) i «0,1)
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Yo &1 AR Hgserid Fer [ R-R foa®
&8 f0)=f1) =f(0)=0 &, T :

Options :
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40503641990, TP 197 x€(0, 1) T f7{(x) =0

40503641991, /(01 =0

40503641992, 11 x€(0, 1) % T f*(x) =0

40503641993, T 195 xe(0, 1) W f"(x) =0

Question Number : 58 Question Id : 40503611588 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Let f: R—R be a function defined by
f(x)=max {x, x?}. Let S denote the set of
all points in R, where fis not differentiable.
Then :
Options :
40503641994, $(@N eMPLy sel

40503641995. 0.1}

40503641996, 10}

40503641997. o
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HAIf: R—R, f(x)=max {x, x%} 51 9fenfug
UF Fe ¥ 1 WA S, R % 3 9 fagedi sl
f ST T8 g, I g Al

Options :

40503641994. b (T R i

40503641995. 0,1}



40503641996, 10}

40503641997. t

Question Number : 59 Question Id : 40503611589 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

If the tangent to the curve, y=f
(x)=xlog.x, (x=0) at a point (c, f(c)) is
parallel to the line - segment joining the
points (1, 0) and (e, e), thenc is equal to :

Options :

40503641998. ©

40503641999.

40503642000. €

40503642001, €1
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afg T y=f(x) =xlog,x, (x>0) & UH fag
(c, flc)) TT Taei@l fa=g 3l (1, 0) d=
(e, e]f]ﬁ?ﬁﬁﬁ[ﬁmﬁ?w % dlc
T :
Options :

40503641998, ©
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L1 —a)

40503641999, ©

e—1
40503642000. €

1
e—1

40503642001.
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The set of all real values of A for which the

function f (x)=(1- cos?x)- (A + sinx),

» has exactly one maxima and

cxactl}-' one minima, 1s :

Options :

-

27 2)
40503642002, ~ = 2/
il 1*|
40503642003, - 2 2/
(3 3)

| =550}
40503642004, - = 2/
.f r}' 3"-
2’ 2

40503642005. *
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f(x)=(1—cos%x)-(A+ 5111::],151
W - f
Fad UH M= (maxima) 9T FHad TH

=T (minima) g, & qH=4 2:

Options :
’ |
1 13
2" 2/ 0
40503642002, ~ = 2/
f 1 1]
40503642003, - 2 2J
i '1 3'\,
5730
40503642004, ~ = 2/
{ 3 3)
2’ 2

40503642005. *
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2
The integral jlh e -x"(2+loge x )dx
equals:
Options :

¢
40503642006, ¢~ 1

5
40503642007, (2¢—1)
40503642008, ©(4e—1)
e(de +1)
40503642000.
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2 X X )
A jl e* . x(2+]log, x)dx TTA T :
Options :
3
40503642006, €1

40503642007.

40503642008.

40503642009.
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Thearea (insq. units) of the region enclosed
by the curves y= x2—1 and y=1 —x2is
equal to :
Options :
16
40503642010, 3

k|~

40503642011.

W |0

40503642012.

03| e

40503642013.
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TR y=22—1 M y=1-22 A T &5 =
e (o saETedl H) ¥
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Options :

16
40503642010, =
7
40503642011, 2
8
40503642012, 2
4
40503642013,
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. ' :
—x 1 |cosec x is the solution of the
' J

Ll |

It ¥=

differential equation,
.Li 1 : 2 T
—Jr | P{I}yz—fﬂ.“}ﬁff X, U < X< —, 'Lhen Lhe
dx T 2
function p(x) is equal to:
Options :

40503642014, 5S¢
40503642015, COsec

40503642016, @MY

40503642017, “OLX
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I HAgFa FHFI
.dy 2

— +pxyy=—cosecx, O<x<
3 R

&1 Td

R

2 .
¥=i % 1]1::05:3:1%*1 ﬁlfﬁﬁqp{x]a'w%

Options :

40503642014, €€

40503642015, COsecx

40503642016, BN Y

40503642017, “OtX
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Let L denote the line in the xy-plane with x
and y intercepts as 3 and 1 respectively.
Then the image of the point (—1, —4) in
this line is :

Options :

(3 291
40503642018, "2 2/

(29 8

¥

S "

40503642019, "

(2, 1)
40503642020. * 5 5
(1 )
40503642021, -2 2/
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HAT xy-HFdel | L 39 3@ i efeid w2
ﬁﬂ‘%‘xﬁ?ﬂy\ﬂ?{:mm: 3TA1El A
=0 | g (— 1, — 4) =1 wiafas €
Options :

(8 29
40503642018, "2 2/
(29 31
40503642019, ~ 2 3/
(29 111
40503642020. - 5)
11 281
40503642021, 2 2
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The centre of the circle passing through
the point (0, 1) and touching the parabola
y=x?at the point (2, 4) is :

Options :

40503642022. *

40503642023,

40503642024, -



(6 53)
40503642025. > 10/
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fa=g (0, 1) ® BT oM 96 99 Waad
y=x2 I T (2, 4) W 99 F ol I H
FEC:
Options :
T 53 161

BTt

l".

40503642022.

(3 16)

40503642023. 10" 5/

( 16 53)
. B )
40503642024

r

(6 53}
5" 10

40503642025.
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If the normal at an end of a latus rectum of
an ellipse passes through an extremity of
the minor axis, then the eccentricity e of the
ellipse satisfies :

Options :

40503642026, © Te1=0

2o —
40503642027, & T2~ 1=0
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4 m2 9
40503642028, & T2 —1=0

4 R S
40503642029, © e —1=0
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e T Srega &l Al e Sl & U w1
T A oY 318 F UF Y9 H T 61,

@ ST F Il e T Al € ;
Options :

'? W
40503642026, © €10

. TN TR
40503642027, & T2~ 1=0

44 7.2 9
40503642028, € T2e7—1=0

4 T4 _
40503642029, © e —1=0
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A plane P meets the coordinate axes at A,
B and Crespectively. The centroid of AABC
is giventobe (1,1, 2). Then the equation of
the line through this centroid and

pr_-rpr_-ndicular to the plane Pis:

Options :
=1 =1 = 2
40503642030, 1 1 2
.x . g—t,. g 2
40503642031, 2 1 1



-
(==
=
(==
I3
I3

40503642032, 1 2 2

]
=

.xl yl
40503642033, 2
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s THaA P 9 A= F1 FH9: A, B @
C W faerar 21 afe 3y« ABC #1 F=5
(1,1,2) & o 59 =k 9 9 9Tl 41 90
P % oT=ea Wl 1 HHE

Options :
11_5.!1_22
40503642030, 1 1 2
11_9*1_22
40503642031, 2 1 1
-4 w4 . 22
40503642032, 1 2 2
el gl g2
40503642033, 2 2 1
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The probabilities of three events A, B and
C are given by P(A)=0.6, P(B)=0.4 and
P(C)=0.5. If P(AUB)=08, P(AnC)=0.3,
P(AnBNC)=0.2, P(BNC)=p and
P(AUBUC)=a, where 0.85=a=0.95, then
B lies in the interval :

Options :



(035, 0.36]
40503642034,

(036, 0.40]
40503642035

[0.25, 0.35]
40503642036

9 2
40503642037. L
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T T=2A131 A, B @21 C &1 qifaehamd P(A) = 0.6,
P(B)=0.4 991 P(C)=0.5 GRT & 7 & |
RIS P(AUB)=0.8, P(ANC)=0.3,
P(AnBNC)=0.2, P(BNC)=p a9q1
P(AUBUC)=a, W1 0.85 < a = 0.95, 1 B
= & 9 T i@ § 2
Options :

.35.0.36
40503642034. Ll bl

36, 0.
40503642035. L bl

)
40503642036. Aol

2 2
40503642037. L L
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The angle of elevation of the summit of a
mountain from a point on the ground is 45°.
After climbing up one km towards the
summit at an inclination of 3(° from the
ground, the angle of elevation of the
summit is found to be 60°. Then the height

(in km) of the summit from the ground is:

Options :

3.5
W
s

4

40503642038.

40503642039.

40503642040, V311

40503642041, V311
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i W UF fa ¥ UF 99q & [Yea #1399
HI 45° ¥ 1 g T 30° F gHa | I =5t
TF Ueh km T T, T30 &1 3999 &= 60°
T A IR g (km H) R
Options :

vﬁll
40503642038, V31
..
40503642039, Y31

1‘%

i ]

40503642040, Vo1



1
40503642041, V311
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Consider the statement : “For an integer n,

if n®—1 is even, then n is odd.” The
contrapositive statement of this statement

15 :

Options :

For an integer n, if n is even, then
40503642042, N~ 1is odd.

For an integer n, if n° —1 is not even,

40503642043, then n is not odd.

For an integer n, if nis odd, then

3_ 1 T
40503642044, ™~ 1 15 even.

For an integer n, if n is even, then

3_ I i
40503642045, ™ 118 even.
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FeA W faan wife “WWH%"W
A1 T ETdAnfTm B HFFA =
AT (contrapositive) 4 :
Options :

T{’-{?Tﬂhﬂ'l‘:gr'?m IEnTAE, T’ — 1

40503642042, TATH T



T YUiE n F faw, afend -1 o9 ==
40503642043 g, @ n formm =& 21
Qﬂa“{ﬂﬁ?ﬁn%ﬁm qfe n fauq % Gl

3
40503642044, ™ — 199 el

T Uik n & oy, Afen @R E, din’ - 1

40503642045, T €1
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Correct Marks : 4 Wrong Marks : 0

The sum of distinct values of A for which

the system of equations
A=1)x+ @A+ 1)y+2Az=0
A—Tx+(EA—2)y+ (A +3)z=0

2x + (3N + 1)y +3(A—1)z=0,

[

has non-zero solutions, is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 t0 5.002

Question Number : 71 Question Id : 40503611601 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

A F A 95 11 1 9m, oA fau ge=m
IBEE]

(A —T)x+ (BA+1)y+2hz=0
(A =T)x+ (AN —2)y + (A +3)z=0

20+ (3 + 1)y +3(A— 1)z =0,

F AT (non-zero) BTAE, T |



Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.002
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Correct Marks : 4 Wrong Marks : 0

The number of words (with or without
meaning) that can be formed from all the
letters of the word “LETTER" in which

vowels never come togetheris __

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.002

Question Number : 72 Question Id : 40503611602 Question Type : SA Display Question Number : Yes

Correct Marks : 4 Wrong Marks : 0
“LETTER” 1= &% 94 A= ¥ 99 ¥ arl
T =i (e 9l gen AdET), T =
w49 ot TF Ty T AW, w1 e 2

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.002
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Suppose that a function f: R—R satisfies
flx+y)=f(x)f(y) for all x, yeR and f(1)=3.

n
If lf(f]=3f"3, then n is equal to

i=1

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to0 5.002
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A fF UF FeH f: R=R, 8 x, yeR F
T f(x+y)=f(x)f (y) B HI= T € q°N

..-'r{l]=3%l i lf{{']:}fﬂ T dllnTHE

i=1
|

Response Type : Numeric
Evaluation Required For SA : Yes
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